DRAWING APPROVED

RANGE CODE

e 0032015 Technical Drawing scale 0,25
NAVE Giampani LIGHT LIG285CRDWDW-MET
DESCRIPTION
P’\‘*YHA One hole sink mixer with pull-out-spray
(2-adj.spray)
METAL PARTS IN CONTACT WITH WATER 221 R
N /—\
o ~ =
228
& 0 ‘\‘/ 360°
N To)
AN
\
[
45 "
=
T
N
bl S s
£
8
Item CODE DESIGNATION Q.ty| MATERIAL SUPPLIER
1 2 |2042116GR Mixer body 1 CW617N DIPIEMME s.r.l.
2 2 14071410 Complete cartridge @35 1 VARIOUS Kerox Kift.
3 2 |2041630GR Cartridge fastening ring 1 CW617N --
4 2 [1000505GR Metal under lever cover 1 CW617N --
5 2 |4111160CRX STICK lever 1 ZAMA --
6 2 |2051108GR M5x4 screw 1 INOX --
7 2 |2091105CRN Lever button 1 ABS --
8 2 |2042118GR @28 metal ring for kitchen mixer 1 CW617N --
9 2 |5002058CR Complete connection spout 1 VARIOUS --
10 2042117GR Connection spout 1 CW617N --
11 2091269 @20x3 cut ring 2 PTFE --
12 2091065-OM Gasket 15.1x2.7 2 NBR70 --
13 2 |5004037CR Complete spout 1 VARIOUS --
14 2081216CRX Spout 1 CW508L --
15 4071223NE Black ABS insert 1 ABS -
16 2 12051110 M3x10 screw 1 INOX --
17 2 |2042057GR Cylindrical Tile 1 CW617N --
18 2 |2042059CRX Brass base ring 1 ZAMA --
19 2 |8001068-140 Fixing kit 1 VARIOUS --
20 2 12081126 ABS fixing base 1 ABS --
21 2 |4071469CR ABS two-spray pull out hand-shower 1 VARIOUS AMFAG s.r.l.
22 2 |4071098CLPGDW | 1500mm flexible hose with weight 1 VARIOUS M.R.G. s.r.l.
23 2 |5008014CR Set of 3 flexible hoses 1 VARIOUS M.R.G. s.r.l.
24 4071836CRPX Inox flex M8x1 F.3/8 cm.45 EPX 2 VARIOUS M.R.G. s.r.l.
25 4071159CRPX Inox flex M8x1 F.15x1 cm.20 EPX 1 VARIOUS M.R.G. s.r.l.



stefano.gianpani
Evidenziato

stefano.gianpani
Evidenziato


DRAWING

APPROVED

RANGE

CODE

DATE

23/10/2018

NAME

Giampani

LIGHT

LIG285CRDWDW-MET

AV~

DESCRIPTION

One hole sink mixer with pull-out-spray (2-adj.spray)

SECTION A-A

oo

21

22

SECTION B-B

M




130,30

POS. | PURCH.REF DESCRIPTION MATERIAL FILE = o
1 4452541 THREADED WATERWAY MICRO EVO POM - black 1406-P
2 2020002 INTERNAL TAP MICRO EVO POM - white 1581-P
3 4200527 OR 2.9x1,T8 SILICON - A
4 4150301 GACO T7,1x3,55%x2,2 SILICON 1978-P w7\
9 4452544 TAP FOR PIN O-RING MICRO POM - natural 1369-P é
6 4350603 SCREW M3 LG=6 INOX GRANO &
T 2548196 BUTTON SUPPORT MICRO EVO BRASS 1247-P ~
8 2531562 BUTTON MICRO EVO LG=14,6 BRASS 1642-P N |
g 4200158 OR 18x2 NBR =
10 2450069 PIN MICRO diam.4 INOX 1084-P @
11 4350009 SEEGER DE=6 DI=2,3 INOX SEEGER
12 4350008 WASHER MICRO BRASS 1102-P
13 4200528 OR 3.62x2,62 SILICON -
14 4300031 SPRING MICRO 9 SPIRALS WIRE 0,30 LG=17,5 INOX 4300031
15 4200529 OR 7.66x1.78 NBR
16 4452510 INTERNAL SLEEVE MICRO EVO 100 POM - natural 1540-P
17 4452573 PROLUNGA MICRO EVO 130/90 POM 1407-P
18 2542083 SHELL MICRO EVO 3 DJ BRASS 1410-P
19 4150351 GASKET FOR FACEPLATE MICROEVO FCS NBR 2000-P
20 2100313 CARTRIDGE 16-18 AFO A POM A-804
22 2020301 FACEPLATE MICRO EVO FCS POM/SILICON 1999-P 2451408
23 2200030 BODY 22 FOR FACEPLATE MICRO EVO BRASS 1402-P
28 4200515 OR 22x2 NBR
29 2750051 AV14 POM/ INOX

2451502

YR
KiQ/ K££/

Wty
SN
f; qsigé;:ffi

TS

o
IS
2\
4 N 2450023
(3 \E) 3 MODIFIED WHERE INDICATED A.RAMAZZINA 15/12/2017
‘ 2 MODIFIED WHERE INDICATED A.RAMAZZINA 3071072015
1

2451446
in contact with water

MODIFIED WHERE INDICATED A.RAMAZZINA 30/07/2015
0 PRIMA EMISSIONE — First Issue A.RAMAZZINA 09/11/20 11
EV. DESCRIZIONE — Description ESEGUITO — Prepared | DATA — Date

R

2451438

riroro MICROEVO 3 — DUAL JET — Exploded view

Title

MATERTIALE CODICE ACQUISTO
Material Purchasing Ref. 1560 40 1
FORMATO SCALA . mm DISEGNO COSTR.N. —
Format A3 Scale 1:1 UNIT Drawing N. A 422
[l presente disegno e' di proprieta' di INTERNATIONAL DESIGN SRL - A termini di legge ogni diritto e' riservato. TAVOLA
This document is property of INTERNATIONAL DESIGN SRL — All right are reserved according to law. Sheet 1 // 1

File: A-422-R8_Esploso_DUAL—-JET_in—inglese.PRT




	LIG285CRDWDW-MET
	Foglio 1
	Viste
	new_view_1
	new_view_2
	destra_3


	Foglio 2
	Viste
	new_view_8
	destra_9


	Foglio 3
	Viste
	new_view_5



	1560401_MICROEVO-3-DJ_R0



